Genesis 3:11




- this is the W conversive with the third masculine singular qal imperfect from the verb AMAR, which is translated “Then He said.”  This is a reference to our Lord speaking to Adam.

- this is the interrogative pronoun MI, which means “who” plus third masculine singular hiphil perfect from the verb NAGAD, which means, “to put forward, report, announce, tell, speak out, denounce.”  Here it means, “to tell.”  With this we have the preposition L with the second masculine singular suffix, translated “you” and referring only to Adam.  Our Lord asked Adam who told him he was naked—the only possibilities were Satan or the woman.  But the point is that the Lord did not tell him.  Finally, we have the particle KI, meaning “that.”  The entire phrase is translated “Who told you that.”
- this is the masculine singular adjective ‘EROM, which means “naked” plus the masculine singular personal pronoun ‘ATAH, which means “you.”  The verb “to be” (HAYAH) is understood, therefore, not stated.  It is translated “you were naked.”
“Then He said, ‘Who told you that you were naked?”
- this is the interrogative particle HA, which simply introduces a question; plus the preposition MIN, meaning “from” plus the definite article HA and the masculine singular noun ‘ETS, meaning “the tree” and the relative pronoun ‘ASHER, which means “which.”  The phrase is translated “from the tree which.”
- this is the first person singular piel perfect from the verb TSAWAH with the second masculine singular suffix “you.”  The verb means, “to order, direct, command.”  It is translated “I commanded you.”  Again this singular suffix is directed at Adam and no one else.  Our Lord is holding Adam personally responsible for his actions.

- this is the inseparable preposition L used to indicate the object with the substantive BILTI, which means “non-existence, existence no more; not; except for, unless; without, not to; that...not, so that...not.”  Here it means “not to.”
- this is the qal infinitive construct from the verb ‘AKAL, which means, “to eat” plus the preposition MIN with the third masculine singular suffix, translated “to eat from it.”
- this is the qal perfect second masculine singular from the verb AKAL, which means, “to eat.”  It is translated “have you eaten?”
Gen 3:11 corrected translation
“Then He said, ‘Who told you that you were naked?  Have you eaten from the tree which I commanded you not to eat from it?’”
Explanation:
1.  Adam’s cross-examination continues with another series of questions.


a.  The first question, “Who told you that you were naked?” is a rhetorical question.  Our Lord did not expect Adam to answer.  Both our Lord and Adam already knew the answer.


b.  The Lord did not tell Adam that he was naked.  Therefore, whoever provided the information was the one causing the problem.


c.  There were only two other possibilities—Satan or the woman.


d.  Verse 7 says that their eyes were opened and they both became concerned that they were naked.  The implication of that verse is that Satan told them that they were naked and it was their nakedness, which had created their lust problem and then their guilt problem.


e.  Satan has been the antagonist of the angelic conflict from the beginning.  He has been the father of lies from the beginning.  He is the creator of evil.  For Adam and the woman to think that nakedness was sinful for them and to feel guilty about it is evil.  For mankind to think that they can do anything to fix a problem of sin or guilt with their human good is evil.


f.  Satan had told them that they were naked, that it was wrong to be naked, and that they needed to cover themselves.


g.  Adam was listening to Satan instead of the Lord Jesus Christ.  That was the point our Lord was trying to impress upon Adam with His rhetorical question.  That is why Adam could have no answer to this question.


h.  The second question is a direct question of cross-examination.  This question definitely expects an answer from Adam.  The question clearly points out what Adam has done wrong and requires no explanation from Adam.


i.  This question requires Adam to tell the truth.  All Adam had to say was yes or no.  All he had to do was admit, name, or acknowledge his guilt to the Lord.


j.  But instead of admitting his sin, Adam enters into wrongdoing.  He finds two other people to blame his situation on: God and the woman.

2.  God never punishes without first gathering all the facts.


a.  Only God knows all the facts.  The Lord already knew the answer to this question.  He didn’t need Adam’s help in finding the answer.  This question was for Adam’s benefit to give him the chance to admit his sin to God.


b.  God gives us the opportunity to admit our sin and guilt before punishment is administered.


c.  Punishment is turned to blessing when we admit our guilt to God.  God forgives us our sins only when we name them to Him.


d.  Adam will only make matters worse by not acknowledging his sin to God and instead trying to blame God and the woman.


e.  Adam has clearly disobeyed God and deserves to be punished.  The rejection of God and the desire to rebel against God immediately created an operational sin nature in Adam.


f.  The first function of Adam’s sin nature was fear of punishment, guilt for what he had done, and trying by his own efforts to fix the problem, that is, a human good solution.  The second function of his sin nature is to find someone else to blame.  This is what he does next.
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